SCHAFFERT MFC. C€0O. INC. - phone: 800-382-2607 - fax: 308-3643-2410

FURROW V CLOSER MOUNTING INSTRUCTIONS
IH 800-900-1200 PLANTERS WITH IH FERTILIZER DISC

PLEASE NOTE: 800/900 SERIES TAKE ALL LEFTS UNLESS THEY HAVE UPGRADED THE
TAILSECTION, 955/ 1200 TAKE LEFTS AND RIGHTS!
(Read Instructions Completely befora Baginning Installation)

DANGER: when storing or working on the plantar always install cylinder stops or place the piantar on stands o pravent parsonal injury or damage to the
attachments Co not allow plantar to rest on pely FVC discs as they can warp

Mounting Instructions IH PLANTERS WITH FERTILIZER

Before you begln, verify the “package contents” to ensure all items are Included. DISC FVC Package Contents

Step #1.  Disassemble the 2 arms from the planter that hold tha press wheel on, then replace with ‘ (R siaga jou)
the 2 new extended brackets provided in the FVC kit HARDWARE KIT

Step #2:  Assembie the Furrow V Closer. Begin by removing the two 3/8" squars headed set bolts | item . Quantity
from the mounting bracket and install the two 3/8" jam nuts. Mount the FVC bracket ;j g :1;1/ 47 Cap Screw
N
Step #3: Install the poly disc to all-thread end of shaft using a 3/4" jam nut on each side of the | 3/8 Lock Washer

disc. Inward and outward adjustment is made with the 3/4” jam nuts. Start at a distance | 1/8 Cotter Pin

of 3/4" between the hub and shaft (fig.(a)). Ex.: use a 1/2" hex sided nut from yourboit | 3/4 Jam Nut

bin and place it between the shaft and hub to give 3/4". Tighten both 3/4" jam nuts. 3/8 Jam Nut

Instruction Sheet

PARTS LIST

Item & Part # Quantity

Gray Poly Disc

Step #5: When running the Liquid Fertilizer Disc it should be placed on the leading covering disc ::f:' Disc (optional)
side. The FVC will also be placed behind the Fertilizer Disc on the same side. NOTE: On Bearing triple seal

955 & 1200 planters the covering discs are 1/2 right leads and 1/2 left | Shaft

leads. Mt. Bracket

*NOTE: soma hardware is installed at the

factory.

RN = NN

Step #4:  Nowyou are ready to install the shaft into the mounting bracket. Depth and pitch will be set
simultaneously before set bolts are tightened. Set the depth of shaft so that the covering
disc blade runs in the soil about 3/4" deep.

S N

Step #6: The FVC bracket and gauging tools are universal and will fit on either side of the planter.
Place the gauging tool over the shaft (fig.(c) when FUC is on the left side of the planter
tumn the gauging tool clockwise until gauge pin bumps against the front of the frame of the
press wheel bracket. If FVC is on right side tum gauge tool counter clockwise tools (fIZ.(d). Important Points to Remember:

With the depth and pitch set, tighten square headed set bolts into shaft. Adequate pitch is - When setting the pitch of the Fummow V
important to prevent the poly discs from warping. Closer; lift the gauge wheel up so the
FYC disc can properly be pitched.

- Poly disc will rest on the gauge wheel
tire without haming it when planter
is raised. When optional steel disc is

fig. (a) between used, a travel stop must be put on the

shaft & hub gauge wheel so that the steel disc will
/ extended mounting Arms, left & right not cut the tire when planter is raised.

d)
-G )

L slie
o -
| /
fig. (c)
gauging
tool
e mt bracket
line up marks on =
shaft & washer Furrow V¥ Closer mounted with IH Fertilizer Disc

T14357rd.397 . Indlansla, na 83034 - phene: 500-382-2807 - fax: 308-384-2410 - salasdschaffart.com - www.schaffart.com 103



